m Exercises, pp. 216-217 @ Exercises, pp. 216—217 (continued) f
i
t.w=17 2 x =785 40. $171 41, 7.14 g/cm3 :
S B (ISl S &2 Possible answer: The student subtracted 0.63 on the side of
5. b =504 8 x =576 the equation with the variable but added 0.63 on the side
7.t=9 &y=15 with 5 instead of subtracting; m = 4.37.
- 43. Possible answer: How many inches is 16.51 cm?
R 10. v =5.16 1651 = 2.54x; X = 6.5 in.
11. ¢ = 44.56 12. d = ~9.65 aa b= —1.14 4. 6
13. g = 5.08 14. w = 21.61 8. 46 a7, 141
15. p = —53.21 16. c = 25 as. 397 a9. -3, %' 35 |
( 17.2=16 18- x= =37 ( 50. -6, 09, -1 51 -2, -1}, 14 f
19. w = 11.76 20. m = 2.28 52. A 53. F
21. g = —~74.305 22. 81.25 3
23. $7.50 Moy=—12
2%. n = -492 26. w= ~09
27. r = 0.72 18. x = —-2.1
% m= -0.15 30. a = -7.11
3. k=09 32. h = -4.402 i
3% t = 0936 34. d = -48 i
3B.v= -2 36. k = —287.658
37. n = 12254 38. 120 tubs
‘ 39. a 148.1 million ‘
b. Between Htalian and English !
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<m Exercises, pp. 246-247 ® .
PP Exercises, pp. 246—247 (continued)
l.a=3 2.m=2 .
g 1 3 41. 15 million species 42. a. 10 presidents
Lp=jzoriy 4 x =40 b. 2 presidents
=3 =1 q
5.1=15 8. w=3 43. 48 stories a3
7. Jcor 3¢ &n=32 g 48. Possible answer: 3 was muttiplied by the fraction 3 instead
g,t=% “,5:% of by its reciprocal, 3.
1L x = %% or 2% 12 h=0 i 46. Write both mixed numbers as fractions, and then multiply
7 ‘ both sides by the reciprocal of ‘2.
13.y= =] 14. x = 20 1 2
1 41. w=1l3zo0r15 48. 6%
15. w=xo 16. y = <5
2 50 21 50. 4>
( 7. z=% 18, x = 16 49. s -4
.4l 52, 113
19.0=Bor1Z 20. 403 ® 31 43 4
s3. 12 54. B
M=) 22.m=Zoril 7 !
3 6 [3 5. H
3. w=6 M. t=] )
I |
25. x = 5 28. = i€
21.n=l}or2% 28, z = 103 or 313
=1 - _9
29.y =5 30. m= —5¢ ’
=1 =3 |
3.r= 75 N.y= i6 |
S =9 1 i
33.h= -5 8. t=30124
LLE 36. p =}
- 51 17 -l 6
31.d<3—43-0f14-56 3&k~ﬁor2§
17 .
39. 115% b 40. 345 in. .
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@ Exercises, pp. 562-563 @ Exercises, pp. 562-563 (continued)
.n=7 .m=-6 38. 2 slices of pizza for lunch and again for dinner
3.x= ?l’ 4. b=24 37. 24 grams
5. y=136 6. n=72 38. 77 — {5 = 30; s = 470; it contains 470 mg of sodium.
7. 12 refills 8. x=7 39. 8
9. p=-12 10. m=2 40. C
n.d=1 2.c=7 31.G
13.y=5 18. h = ~56
15. k = 85 16. g = 240
( 7. m = -80 18 v=-72 (
19. m= —112
20. 4 weekday aerobics classes
21. 6 more than a number divided by 3 equals 18; m = 36
22. 15 more than 3 times a number equals 27; x = 4
23. 4 less than a number divided by 5 equals 2; n = 30
24. y = —-24 25. x =2
26. s = 180 27.g =20
28.z= -70 29. w= -9
30. r = 66 3l.p=2
32.r=~1 33. 120 minutes
34. 1,300 calories 35. 2,200 calories
SRyt Mok, s af Wesien. o tro Holt Middls School Math  Course 2 Cipgin r Hox, P and wieston 171 Holt Middie School Math Course 2
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@ Exercises, pp. 576-577 @ Exercises, pp. 576-577 (continued)
1. Number of people =< 18 33. 0 = Manshu depth measurement = —32,190 ft;
2. Number of fish < 8 0 = Challenger depth measurement = —35,640 ft;
0 = Horizon depth measurement = —34,884 ft;
3. Water level > g s
er level > 45 0 = Vityaz depth measurement = —36,200 ft
F T s s T oo e e £ s ey o d .
~5 -3 -1 1 3 5 i e o S A 34. O ft > submarine travel depth > —2,250 ft
S i A—— wudunimmpomp i
L S Bt S I . 33 38. t = 32°F; 32°F < t < 212°F; t = 212°F
1 1
B < Euipipioipaimirnily- > s -
8. ettt L A e+ 36. §,0.17,17% 37. 3,05, 50%
I 38. 0, 0.0, 0% 39. 1, 0.33, 33%
*-4-2 0 2 4 6
i1, Temperature < 40 12. Number of pictures = 24 ) 40. A - 41. G
[‘ 13. Number of Tables < 35 14. Number of People < 250 (
L oy i 16 ST
B o e e ] i i—————
L2 Sl g g o e LG S 2
s A ————— B A e S
19 TS 20. TS
Aol et — ot
2L T e A R
R e s e s e A — s o ————
. T TS L i S B
R e e A ot
B TS LS S o S
27. ~2<c<3 28.y> -10
29. -3 <x<1 30. x< -20rx=0
31. 0 = depth = —200 32. —200 > depth > —4,000
{
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@ Exercisgpp. 580-581

2yz45TTT
4. n>21
6. k= -3

ox <27 By
. p=T7 T
5.b=-24

7. At most 12°F warmer

B.5>16 77T en 9. m <1 TTTTTTTTT

10. b > -5 == T Thes 1 755
12, y < 28 “Zr o 13.xz80 " awnwm
14, w<—12 15. 2> —12

16.p < -25 17. f> -6

18 k<1l 19. n = -4

20. At least 27 points 21. At most 24 birds

22. k= 48 23. a>03

8. c<5} 25. m < -38

26. x > —3.02 M g<el

28. r < -51 29. w =< 15.7

30. n > 476 3L t= -242
32.y=-33 33. v -06

34. At least 7 people 35. At least 0.5 meters
36. At most 23.7 mi/h 37. At least 22 miles

38. Up to 50,000 hertz 39. More than 12.4 km/h
S oL e e 178 Holt Midéte Schasl Math  Course 2

@ Exercises, pp. 584-585

1. w< -32 2.2< —-42

3. p<48 & m> -5

5.y>—%or-l% 8.c=8

7. At least 27 candles 8.5s>7

9.m>52 10. b > 180

1. c=-120 12. y < 225

13. x = —1.1 Il.w<%

15.z<3 16. p =< -3

17. f< -3 Il.k<%orl%

19. n < —10 20. More than 558 people

21. At least 46 wreaths 22. a = -650

23.p>4 24. m > 100

25.y =18 26. x> -2

27. g > 063 28.r=4

9. w=3 30. 0> -10

3ht<3 32. y > -42

33. vz -25 34. At least 12 plays

35. a. More than 218,500 36. At least 480 subscriptions
b. Fewer than 655,500

37. 10 days

i b dalinanibilaned
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@ Exercises, pp. 580-581 (continued)

40. Wednesday

41. Possible answer: Add 9 to both sides of the inequality:
n < -~6. Check by substituting a value less than ~6
forninn-9 < -15.

42. x > —65 43. 144 in?

44, 1,024 in2 4%, 1,600 in2

46. D 47. )

o s o, Prarart s s 179 Holt Middte Schoel Mt Cowrss 2

@ Exercises, pp. 584-585 (continued)

38. Possible answer: To be in the reading club, each member
needs to read 7 books. Felicia read at least twice the
minimum number of books required. How many books did
she read? x = 14; Felicia read at least 14 books.

39. Possible answer: Multiply both sides of the inequality by
-8, and reverse the inequality symbol to “is greater than”
Check by substituting a value greater than 320 for n in the
inequality %5 < —40.

40. x = -3 41. x =11
42. t =2 43. r=6
44, y = ~120 43. B
46. F

S Sy ettt Voo 181
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